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Grade 2 Addition Worksheets

. Two-Digit Addition (With Carrying Over)

27 +48=
56 + 39 =
78 + 67 =
84 +79=
92 +47 =
63 +29 =
45 + 68 =

35+59 =

. Word Problems

. Sarah has 45 apples, and her friend gives her 38 more apples. How many apples does Sarah have now
. James has 67 marbles. He buys 28 more. How many marbles does James have in total?

. A'library has 82 books on one shelf and 59 books on another shelf. How many books are there in total?
. There are 57 students in one class and 42 students in another class. How many students are there altoc

. A baker bakes 65 cakes in the morning and 74 cakes in the afternoon. How many cakes did the baker b



